Activity Based Costing - Worked example -Solution

(from Hopper et al. 2007, Issues in Management Accounting, Chapter 8, p.162-
164)

Table 8.2 Full costs using traditional cost accounting

—

Cost Product X Product Y
Direct material costs £150,000(") £10.0002)
Direct labour costs £300,00013) £15,00014)
Manufacturing overhead costs £129,000(5) £6,450(6)
Total manufacturing costs £579,000 £31,450
Product cost per unit £38.60 £62.90
Notes:

(1) ¢10 x 15,000 units

(2) £20 x 500 units

(3) £20 x 15,000 units

(4) 30 x 500 units

(5) [£135,450 / (£300.000 + £15,000)] x £300,000
(6) (£135.450 / (£300,000 + £15,000)] x £15,000
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Activity cost driver Auiity sont ettt c“lf".'?'.,""
ey S 2000 parts £7.525 per part
Ve _—— €21.000 400 howrs' £52.5 per hour
- . 4B 600 1550 hours £32 por houe
%) 000 1500 hours £20 por howr
[ (NUE LY G000 hours £33 pex »'iouu__

7S R OF et 14> b % o PEOAUCTRN I Tequres S BOUES OF S81-UD NG ther
:‘v::\::::umnslm wovrs - Y000 prets o VS peOcuction s Th produchon nns % S hours o 78
o st

\a‘n«ﬂ - of et up e as sach POAUCTION run regures 0.5 hous of set-up ang
M”n“’"""'" s (X0 ety 10 units - S0 production ons, 50 Deoduction ruvs % 6 5 howry -
A0S Bows st g

Tored st g o K greiucts X andd Y e Seretorn. 400 hours (75 hours « 325 hours)

to subvardise 4 kow volume pooduct frke Y ABC sevks to overcome this problem o
oot istortion By captunng the meal consumption of overhead resources, attributing:
conts b products based on the activ ities they regquire



Table 8.6 Activity cost assignment

Activity cost driver Cost driver rate Product X Product Y
Matenais handing £7 524 por part £13.545(1) £1.5082)
Set-up £52 5 per hour £3.937 513 £17.062 54
Machineg 32 por hour £32,0001%) £17.60006)
Assemily £20 per hour £24,00017) £6.00018)
Inapecton £3.3 per hour £14,85009 4 95000
Totd B £88,332.5 £A7,117.5
Notes:
0107 526 % 1800 pants
21 07 525 % 200 parts
™52 5 x 76 hows
082 & x 226 howrs
51 £320 % 1000 hows
B cw * 550 hours
M £20 = 1200 hours
" £20 % 300 hours
£33 % 4500 howrs
0 £33 x 1500 hows
Table 8.7 Full unit cost by ABC
Cost - m—
e ‘, Product X Product Y
Dwect matenad - —
o 150,000 £10,000
Dwect labour conty
£300.000 £15,000
“““"DM'MM o)
w""‘"""'l 332 5 £4T 1175
Sose 05383325 5
Product cost per unit £nA17
T — S £144.24

After calculating cost driver rates by dividing activity costs by cost driver volumes,
overheads were assigned to products X and Y. The activity costs assigned to each
product were calculated by multiplying the cost driver rates by the cost driver vol-
umes for each product. These are shown in Table 8.6, and unit product costs under
ABC are computed in Table 8.7.

This example shows that there was cross-subsidisation between products X and
Y under traditional costing; product X was over-costed and Product Y was under-
costed. This is because traditional cost accounting did not consider the differing
complexities of products X and Y - it allocated production overheads using only a
volume-based allocation (labour costs). Thus, a high volume product like X tends



